N.B.: (1) All questions are compulsory.
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Fot

(2) Makesuitable assumptions wherever necessary- and st - ASSU
(3) Answers to the same question must be wrlttcn mgeth‘e o 'J"
(4) Numbers to the right indicate marks, = 5

(5) Draw neat labeled diagrams wherever ng‘cess;irjf.
(6) Use of Non-programmable calculators -nggllqwgd_

el A

Attempt gny three of the following: _
Write a short note on Java Virtual Maahm& (,J ‘J?M}

Write in detail about different tm&sgp t‘-pe:rﬁtc-rs in Java,ta;\egury. _
functionality, opemnds and returii type. ?GNM}:LEE ‘example Sfa‘tﬂ"i’uéhffﬁrcg'aﬂ}i e
What are the primitive data t}ép‘f:s in Java Emeﬂijpimqﬁthémsme_t.}‘aﬂg_é’gﬁﬁ-ether

details. 5 D SR TS
Explain the terms : narrowmgz;mﬂamp‘ggmsiaﬂmg}mﬂ autq‘bbx;ilg.

S =

Briefly explain: (i) Typeanuotatransgn) tgmﬁﬁa? : fesﬁ@ﬁs :

List and explain the :

15

Attempt ngfi'ﬁﬂzefé_ of th

erte a cnmgaraﬁ;\c& ﬁnte grn gvej'lgamh@ aird me‘mcgmg in Java. g

] ‘—,r..a,.\r_,l -.n L‘-\'“--“'\-"
S

Expia:m the. ﬁmctx\gngﬁy g:»f d%‘er_;ﬂ}ypqs gf 1tRxatm3 statements in vamuéma :
suitable exampTBS' [Sesstuein
. l= H.’ J ! A
of static ﬁ_emhﬁﬁgm Java using a suitable exampli
: m , qf’rhe given statements : |
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d.  Explain the below given code and the concept(s) it represents: . .~ "o S0
Shape gen = new Shape(); o e o LOOE i B
Rect r = new Rect(); Circ ¢ = new Circ(); : A o
int k= Integer.parselnt(args[0]) ; TR Tl o e o A
if (k==1) gen =r; else gen=c¢; R SR gy R S
gen.showdata(); ' o A

®

How do you create your own package and unpor‘t it m a Java prdgram? /Bxpla‘irt:thé <
procedure step-wise using a suitable example. -

f.  Explain the below given code fragments : e ; . i \ :
(i) interface values extends demoval { ... } P Era 2 e g Ty
(ii) class sample extends dsamip implements dval { } Ll T LT
4. Attempt any three of the following: o e g i 18
a.  What is a vector? List out any five vector methods and quote: therr ﬁmctmnalny-. r
Write one example for each.
b.  Explain life cycle of thread wuh a neat Iabeled dl&gram =
c.

Explain any 3 different cases ofcxceptlon handlmg a 15 ;

d.  Explain the semantics and functionality of the gwcn statcmeﬂts’
() FileReader ins = niew F1leReader(mf}, F
(i) dos.writeDouble(27.36); ; SRt )
e.  Explain the difference between ﬁr&foliawmg nsmg a,sulta?lﬂe example
(i equals() QompareTo(),cqualsIgnoreCﬂsgﬁ}a P
(i)  substring(k),- subtring(k ;) = st
(iii) - lndtxof‘( X W4 Imdexof(‘ ; ), i
f.  Explain: X
[OR mt k= Irtteger parselm(num),
- (i) - val=Ival.longValue();
: (‘i-i.i) dval Double va!ueOf(s),

5._ y Attempf ang ﬂ:reg of the ful]owmg 15
5.2 -Brieflg explain qdpgaimn\madel event, event listeners, and event sources.

W1~.at is anApp}cl‘? Expiam lts hfe cycle in Java,
Wh&t ima layout manager? Explam any two layouts.
S .\Wmte abmut Huttun, Textﬁeld, and Label controls.

N

E@m@ the semnntms and functionality of the given statements :
@ puhﬂn v0id paint(Graphics g)If ... .
A \(‘h‘} b.a\dd.&ctinnListener(thls),
(i) repaint();

Expdam MPPEET:»‘ and <PARAM> tags with their attributes.

o e e vk ***1******&***.
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N. B.: (1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary and 8 ’te the ass made
(3) Answers to the same guestion must be written togeﬂ:ter i R

(4) Numbers to the right indicate marks. S Sl s pial P o S (S
(5) Draw neat labelled diagrams wherever necessaﬂ ¥l iSSP ar e

(6) Use of Nun-grﬁgmmmable calcuiatnrs is al]awed

1.  Attempt any three of the following: - Aot
The following table gives the hcights uf -B
height of the students.

Height (in “‘ &
" f!ﬂ-_ﬁﬂ. LS
63‘65;

Jﬁ&- s _ ‘ =

b.
during the nextjearlﬁ ﬁ‘:h"h_“;%@ B = :
i Fmd,the qmthnle‘u\ﬁ*m of thﬁg,mnus ibqﬁa“z ysfar peno:i
ii. ]';‘mﬂ the;anfh:lmatlc‘me&n of fh&—rahps df' brea;{,pr:lces to milk prices for the 2-
= .\-.r "}'"".f J'h ,_ Jhw...,-“ {
filigas Mcpss"tt@ Tg&bﬁi&?a?&sgﬁ‘g;&e s;ntﬁrgtefm mean for averaging ratios.
IV Elscuaaﬁe mqmbﬂgy I;h.@ngﬁ)ﬁiems-meaﬂ for averaging ratios.
A 4 ,-'L_,“Wu_q:h:,\_q_ i __\_}l iz
¢ W&mxgﬁmﬁx ‘and ¥, dssume: the’ mucg 1 =«~2 ' Xa=-5,%3=4,X4=—8and Y,=-3.
ﬁf’gh J&‘Yy =1 {EQ ﬁ —55 -Jaagcnhi’ei‘)g t‘a’{gulatﬂ
i PSR Sy Z:X‘Y; w.ZXz, v.ZU{— X +Y)
y ?l":_\‘ e ,'V;‘ % i

‘ﬁ@ﬁlﬂﬂﬁ]ﬂ@ﬁﬂnﬁumﬁm%ﬂwmmn grade of a group of 150 students was 13 and
ﬁ “s dmﬁ ﬁmamon was 8.0, In algebra, however, the mean final grade of the group was
cﬂgd‘dm'ﬁghnwﬁs Tk é In which subject was there the greater (i) absolute

b e
o i
Lh 2%, L
i

el
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Explain the below given code and the concept(s) it mprcsmt,s
Shape gen = new Shape(); :
Rect r = new Rect(); Circ ¢ =new Circ();

int k= Integer.parseInt{args[0]} ; 4
if (k=1}) gen =r1; else gen=c; e
gen.showdata(): ;

Explain the below given code fragments ;- ’,_ ;
(i) interface values extends demnvai e

Write one example for each. s < -,
Explain life cycle of thm&fﬁu

() FlleRﬂadarfﬁS- ﬁgw'

(ii) dos. writcﬁguwl&(_ 6*);»-9 :
Explain the dﬂérau‘ce;ﬁéwﬁeﬁ tl:éﬂ’aﬁ@wmgm{ :

(@ gﬂu% Qi‘imfp&l’fr?_eélu equﬁlsrgnv

(if) < substring(k). illt o
‘:?"EH i o

(iil) ./ Tadexofl
Explai.h.i- e 5
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(Time: 2% Hours) 5 FR S SES L
[?otafﬁarh 7!4};3 A
N.B.: (1) All quesunnsarcw RO 5 | : ) g
(2) Make suitable assumptions wherever necessary arid state the assun '_ ng made. .~
(3) Answers to the same question must be written Qgether ST R O e P ¥
(4) Numbers to the right indicate marks. g STl N e T e e 2
(5) Draw neat labelled diagrams wherevyer necessagg P Nl s g
(6) Use of Non-programmable calculators 15 alm R et S T o ge
et S .:_._,_,., 2 2 - = '__ _w'
1.  Attempt any three of the following: !;;:'-'j;, :t 5 i

The following table gives the hslghts f I smﬁenss a[ XY‘Z Cﬂ[[ege ,Fmd th&z;fi’&&:l
height of the students. ST : o -

,"'i

Height (‘fn} S|t
6[] &2:1 -__ .___\1_ _\-_- s _‘__-_. - ._ ;
= ’g‘ﬁﬁ’“ LF AT :

L 66-68° “ﬂ :

= 2 \39'@;13 il

T b St
b.  Duringone year the raﬁﬁofmﬂk Enéeg.;;:&" quart.
during the next. ?wtﬁﬁ:ran Was200. T 5 fhre
v Find: ‘the ﬁ,ﬁfh]f}:hﬁ"lﬂgﬂ; ﬁffhﬂe,mtlﬂs fﬁqﬂ}ﬁﬁ-ysar period.
ii. Eind th‘g;’ékifj’\mgem mean of iherr.a{* ios ¢ of brqﬁ;l pf:wes to milk prices f

e "‘- \“-/\l‘-'n. - .\_,.,

'

ryear
if. > “Bl&fﬂlﬁm?ﬁﬁﬂa’birﬂr
i -”""-.3: -Emcua&thé‘sultﬁ“ﬁﬂﬂ?

Eys,;n‘g@e anihmepc mean for averaging
t_ﬁe gemjfe:sn ¢ mean for averaging ratios.

mtmnﬁn stat[stms, the: mban grade of a group of 150 stadents
ndar fgl.e;waﬁmm }ga&&ﬂ aﬂ'l»algebra, however, the mean final grade o th
an¢ th“Egs@xthd -deviation ' was 7.6. In which subject was there the greater
Qﬁgﬁgﬁ;n B:tld. (_li) Iﬁlﬁﬁuc dlsq::mtgenﬁ

M. -,{"“\

hqdﬁxp[am 'th& ga:n pefﬁes of standard deviation.
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p e following: an RN
i.' ?zﬁnt;lit;)nﬁrg:,rig)o:egind, (iii) th?rd and (iv) fourth mamentg\ii?tflgt__tll_ﬁ,~_\_. ehﬂﬁf%bset
2.3.7,8, 10. i V\. e ~ ;:“’;c_” 5 R,
b.  Ina frequency distribution] the co-efficient of skewness baschpmtﬁ&C;U&ﬂilﬂﬂségg}f s
the sum of the upper and lower quartiles is 100 and mediﬂnl$33,ﬁna\ﬂfﬂ “-@ﬁlﬁr“d.hﬁ e
upper and the lower quartiles. AR R “"x. “‘ ‘-.:\ s
c.  Inasurvey of 500 adults were asked the three-paq;;t}j@_s’ti?pi_(_--ll"}-\i@:;.;au'dw_lxj ace;E : ﬁgﬁlﬁ;j‘;? C2
(2) Do you own an ipod, and (3) Do you have an 'iiiierﬁ@f\-\pqn—i}&;uo‘g?‘- The resu 6“@1_. S

-—

T
e ot
.ol

survey were as follows (no one answered no tqalﬁ‘}ugem\)lx \ l“:_ “\’\ s ,ﬂ
cell phone 329 cell phone and ipod 83 . S e T
ipod 186 cell phone and internet connection 217 RS 2

T e

internet connection 295 ipod and interngt connection 63 \L S S s

(i) answered yes to all three parts, (nzkhaﬂdﬂ‘ann*e.ﬂpﬁung@Lﬁgfﬂmm?mébﬁ nnecton,

(iif) had an ipod but not a cell phone; (iv). had &n internet connection ‘but Aot an fpod,
(v) had a cell phone or an internet ¢onnection but notan‘ipod:and, (vi) had-acell phorie but
not an ipod or an internet conneckon. "= &1 - et o el R B ST

s e e B B e P et R e S T

d. Onebag contains 4 white ballsand 2 black balls; another contaifis 3 white ballsand 5 black
balls. If one ball is drawn from each bag, find th&p,mf)ahﬂl\tyﬂ‘{#‘ﬂlﬁotﬁ are white,
(ii) both are black, and (iii) dr@gi'szfv_-,r_ﬁ_ijé:_' an done is black - \Q‘Hﬁ:}*ﬁ«,q

e.  Assume that the heights M;B.mﬂimglq;sfuﬂaﬁ;s“a’t aunwma]qrmg«mﬁnaﬂﬁ distributed with
mean 68.0 inches (in)afid standdrd deviation3:0 in, If 80:samples consisting of 25 students
each arc obtained, what would be the expetied mean and standard deviation of the resulting
sampling distribution” of means if the'sampling were done (i) with replacement and
(if) without replacement? Give the interprefition of the resilty 1= |

£ Five hundred ball bearings have d piean sweight £ .02 grams (g) and a standard deviation
of 0.30 g?mdfhﬁgmﬁ&bil‘f}fﬂ‘(ﬂt,@}'ﬁu %ﬁ ?ﬁﬁlg}ﬂgﬂgﬁhaﬂ bearings chosen from this
group wilk have:a combined weight of (i) between 496 and 500 g and (fi) more than 510 g,
(Use the table of area under normal-curve from 0 fo.2). |

ey S e e A e e S

i i

-

I
T e 3

\-1'_\:-.,_ 3 B T L L U
) three of !

it 0 e __-':'_;,'_-—::‘n.; e
3. Attemptany hrecnfthe Dllowlics = ) < o 15
a. _In measuring regetionitime; a psychologist estimates that the standard deviation is 0.05

5

5 _second s.(5). How Jugga,.g“ﬁmiplﬁpfn};ashmnﬁnts must he take in order ta be (i) 95% and @
- G1)99%co fident that the-etrot of his estimate will not exceed 0.01 s? -

b A measiirement was recorded a5 316.480.grams (g) with a probable error 0f.0.272 g, What
- arethe 95% confidence limits forthe mcasurement?

=r

A samgleﬁpgﬂkgfl@“m‘zﬂ*sﬁhugegﬁt random from all voters in a given district indicated

P R
Sl
T

- - that 55% of them Wwereiin favorof a particular candidate. Find the (a) 95%, (b) 99%, and
= G‘L _ 13%\0% (ﬂgﬂﬁ;‘}.’rﬁg}]\tﬁ:‘f&}"ﬂlﬂ proportion of all the voters in favor of this candidate.
s L R B G
Explain.Type Tand Type H errors and Level of Significance.
i SR S ER e
2 breaking strengths-of cables produced by a manufacturer have a mean of 1800 pounds
2o - -ﬁﬁi‘f@v  Standarc t&;ﬁgxmhm of 100 Ib. By a new technique in the manufacturing process, i
i ‘;'--.-'aE]Wgwuf‘@@i@hiﬁmﬂﬁﬂg strength can be increased. To test this claim, a sample of 50 e
5 “eanlesistested and it is found that the mean breaking strength is 1850 Ib. Can we support K 3

the claim.zt the 001 significance level?

=
T




O.F, Coder d6int

I Two groups, A and 1, vonsist of 100 people eagh who have o dlasn A serum (s gives
group A but not to group I (which s enlled the controly, otherwise. fhe two groups dee
troated Identioally, 1t is found that In groups A and 1, 78 gl 4 people, respectively,
recover from the disease, At signifivance levels of (a) 0.01, (bY 0,08, and (¢) 0 10, fext the
hypothesia that the serum helps cure the disease, Compute the povalue and ahow (it
pevalue=0,01, povalued\=0,08, but pvalue<0.10

4. Avempt gy three of the following: 18
a. A random sample of 10 boys had the following LQW
70, 120, 110, 101, 8K, Y, 95, 98, 107, 100.
[0 these data support the assumption of a population mean 1Q, of 1007 Find & reasonable
range n which most of the mean 1.Q, values of snmples of 10 boys e,

b, Pumpkine were grown under two experimental conditions. Two random samples of |1 and
0 pumpkine show the sample standard devitions of thelr weights as 08 and 0.5
respectively. Assuming that the welght disteibutions nre normal, Gest the hypothesis that

' the true varlances are equal, ngalnst the alternative that they are not. at the 10% level.

[Assume that P (Fos = 3,38) = 0,08 and ' (Mo 2 3.07) = 0,08

¢, The standard deviation of the helghts of 16 male sudents ahosen at rancom [n a sehool of

1 000
male students 18 2,40 in, Plad the (1) 95% @nd (1) 09% confldenge Himits of the standard

deviation for all male studenty at the school,

4. Caloulate the chi-square alue ot the ollowjng datn._
[ coloyr - Red I __Sitesll. Yollow
| Obuerved 12 16 20
P T i I Sy
| Bxpeoted 16 § 15 ‘
F;ggumgw - o

¢. Aome Toy Compiny prints basebull cards, The eompany olalms that 30% of the vards are

sokien, 60% veteranh but not All-Stars, and 10% are veteran All-Stars, 5 _
] li'iuppqwa "_’ dﬁmmu-er 100 cards hag 50 rookles, 45 veterans, and § All-Stars. Is this

consiatent with Acmelkelaim® Use o 0,08 lovel of significance, (Use chl-gquare goodness
of fit), Glven P(x* » 19.58)~ 0,001 | -

A survey of 320 lomlies with. S 0 qugh revealed the fllow
L e " ﬂ _‘;_;lq_- i s g Zred =
PR - G . PSS B S PR
o of - | 46 110 e LU Rl T
e e

i e Tiypothonls tat male and fonale biths.

o i 108 t;ayﬂihlﬁiﬁ.w
profable? ¢

ik

o

/i
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any three

5,  Attempt
i sonential curve of the

a. Fit an €X]

e AL o BT, iy 1]

*) cipdl |yt AL

e H )
AT

taken at weekly intervals are given be}owﬁtasg;mght»ﬁtiaus;ﬂ B
. --'---,-ﬂe"’"""-.

b. The weights of a calf .
ares and calculate the average rate 0L

the method of least Squ

C.

R A e e
T ey R ey _*_;.— i, o
d.  Find the coefficient of linear correl,ﬁ_tﬁg'ﬁ‘hetw_gs‘egjﬁie ariables X2 Y
R R war S R
A - L i i A A BT

i
P S B s

T T A S

. e R
¢ T RS e e
; 5.1 =05 o g Dl
e. In a partially destroyed labora of an an __aly_s‘ls!:ofg@rrﬂ-eia“h_ﬁ

~

0; 40X 18y =214

results only are legible: = = = 574 O STl
Variance of X =9, Regression equatio K J0Y £66= 0, 40X
Find (i) Mean va.li:lg:;"_,df.:X;Bqﬁ-tf,;_r(jﬁ;ﬁ]@ ﬁﬂlaﬁonwefﬁmem between X and
(iii) the standa:d\ﬁl&}*iﬁﬁ‘égjfdf ¥. T S R o

Pind the equations of lires of t¢ -,ﬁ_gtejﬁifaféﬁ;e*ﬁﬁ{mﬁmgdmz' B
Xi ARG D "._'ﬁ-'.-f'/'~.~"i,68-€""_!i-'69 [ 70 |22 . s

o




—=ocegT

o oo N
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E:s._plmﬁ userin i‘:t‘h design process v.ﬁtl,i the help of diagram.
m q[]g,o:rt;le,a on ﬁfﬂg,qﬂlkﬂﬂhl!lh‘lhﬂg.,

5T :.'4,-?'- '.4% h‘ftatd‘;tt _

a0 WG‘IF&M ﬂ:l Etzmyqnunt testing,
Bt %ﬂ he test antgmation.

¢f

[y
<3 x’ J'"‘\L' [, ff‘r‘} 1,';‘{‘ {{‘j“h?ﬁ' I r\wzzrmréfuﬂﬂ ‘V;j’: /{?’
‘mz((amw furj'e Q. rud Ql’i Code: 36156
[2'/; hours)

Totul Mariss 78

o (1) AN questions are gompulory, -
(2) Make gultable assumptions wherever necossary gl

(3) Answors (o the game question must be wi A
(4) Numbers to the plght indionte morks,
(5) Draw neat labeled dingrams wherever % e

1 e L )

minde,

(6) Use of Non-programmible colculators s

Attempt gry threg of the following! : ' | . 5 Jls

Define software engineering, Explain lhu ‘-loﬂwurw Dwa!qp:uuhi Lifu C;yvlu ﬁBDT.KZ)
steps in brief, Vel

Exploin the clagsification of the an.lwnrq mquiruments. PR Y D% ol .' .
What are the components of soflware process? Explain, - 0 & o 0
Explain the structure of software rmquirﬂ-mant docoment. s, el S -
Write short note on spiral model, T

> Y A

What are the principles ul’ugllummhad‘? _ bt N &y

Attempt any three of the io].l'u:ﬁ‘flnjr' AN M S —i;f-“ o 15
State and explain the emergent s Hi&}'ﬂﬂ, pr.opwtinas wlfh qummﬁ* et K
What is legacy system(? Explain it with thehelp ofidia .r;Lgl:n,w H at 4."_,~.~
Explain the simple eritical gy B%afm wt;h suitableexample. o 51 e
Explain the importance: u,F fo lbl“t}" Bﬂidﬁrﬁhi:Laqﬁitrmnuutqqqﬂﬁ‘ourlng process.

Write short note.on I ) By
® Conlsivodsly o o S SRS
(ii] Qhﬂédt |ﬂhf—[§lr ) -“ '.." " | ".I,"_'-.II-;_J'. :I-- SEI:-;::_I‘;,:- 'ﬂ:‘\::“
"|u, A7 ...'.'. %= \,,.‘,":',

Explaip requiriamwhﬁﬂlaidnﬁhh mﬁeéss whacku -:q’l tl‘ib:l'ﬁt.juuamenta in the requirement
document, _' ¥ _?” FAa Y

Attemptan ¢ of the mumymm e
Wiite shumpojb o1l ﬁrgi’ut&ﬁ!l;l[‘iﬂ ﬂq’sigmﬂcmsim‘s.
Write short note on modulnr decomposlifion styles,

......

the it ,ﬂlaﬁ@gqmant ﬁmmm
@alwx*ﬁasu,raucu’? Whm. are {he quality standards types? Explain,

a"n".lﬁﬂ-,' 1 e ’
s thred of the Iulhm’lna'
catipn and valitlation, Explnin software inspection in v & v process

‘sha un,Fum.':unu Point (FP) and Line of Code (LOC) measures,
g m;mﬁ Constructlye Model (COCOMOD) with the formula for con
uration of p mj,taﬁl and manpower efforts for project. ?
Esgmﬂ iqm.!gflws[re cost estimation technigue.




m Make
(1) Answers 10 the

[41‘Hunﬂmiuthcmh5 indicate marks. _ > = Fa. Ty Ly T,
(5) Draw Mmmwhwnﬁ Sy S e P RSSO
{6) Use ofwﬂkm!mhmm ' g Y2 -f! s
Attempt Mnf the following: :
Define software engineering. Explain the Sommt
mm;smhnel’ 3
Explain the classification of the software requﬂrmm & LA s) ALt /
What are the components of software process? Explain. " o ¢
Explain the structure of softwarc requirement document.

Write ghort note on spiral model. 4 : --ﬁ:“;; 3
What are the principles ufngll:mwigd’f‘-‘ 30 s

=

- L

Ammtm of the following: L s 15
State and explain the emergent. ;srmp;:oparﬁu*ﬂﬂ!-, :
What is legacy system? Explain:it with the help of diagram. .
Explain the simple eritical syste with suitable example. .
Explain the importance of feasibility study in requirem n
Write short notean FYA LS T8y Se
G)  Contexymodel, EAE 8
(i) ijmtm:dal s Rl P g

pppTe M

hree of the following:
jon and validation. Explam software inspection in v & v process.
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Sl & Compuber em,fbﬂ

(Time: 2 hours)

Q. P. Code; 3%}; .

Total Marks: 75
N.B.: (1) All questions are ¢ 1
(2) Make le a ti whemvcr necessary an{% state t
(3) Answers to the n must be
(4) Numbers to the ri _gh_mchcate marks. o 45 .
(5) Draw neat labeled diagrams wherever necessary, s YL on ST F
(6) Use of Non-programmable calculators js- n_lm, S

Attempt any three of the following:

What is computer graphics? How image is ﬂ.lﬁ‘p!ﬂ edm; vfd‘eﬁ displaar dﬂﬂcc‘i' e
Explain the method of circle drawing using ﬁudgﬂm{ cirele algefmhm o A
Distinguish between active and passive graphics devices, .

What are the various problems of a]“jasmg?‘ExPIam wnh mampy h g
Explain different types of wdeu.furmat&? S

Explain the acceptance and mjeblmn test usmg— bit eaﬁ(m m Cﬁﬁaﬁ-ﬂut&gf?#ﬁi line
clipping algorithm. ;! .

o e ap e

Attempt any three of the fuﬂoﬁ'lngu e s : 15
Perforr]tll mapping from window-to viewpoﬁ ee&ordlnate tmﬂsﬁﬁnnaﬁom .
Using homogeneous c:um‘ﬂmath\u'ansfammﬁcn “matrix, app],? ﬁ].low{ng sequence o
transformation to-a mﬁpsq’fuare-ﬂ’qnt;rqd a?@ngl:r. B =

(i)  Translation by factor(L,1)

(ii) Rotau*ou:‘by zrngegH‘igﬂﬁ .‘: _~ o

£s

G (o B

T A

Obtain the gan&mf m}ﬁbmetl’ma‘m# ior\.zgﬂin&aha?m"ﬁxad point P(xf,yf).

Write a.nmwn‘ﬁfﬁﬂﬂ ; : PG
ic projection.
Explain projection: ‘withithe help af o ;ﬂaﬁg’aﬁl f'r%nafnrmatmn matrix:

o 0

Sh:hr-ﬁ umfuuhrr gﬂnat@dgf in iﬁﬁﬂlwx

ving:
ﬁiﬁplaj'n catmzﬁs-at view volume.
;:a,mqra mgﬂ.ﬂl‘mﬁ viewing pyramid with diagram.
‘E@;RI-am‘ d!ﬁﬁtﬁnf #@Pﬁ'ﬁ#ﬁ ‘of Bidirectional Reflectance Distribution F
{BRDF).

- Wiitea 'ﬂﬂtﬁlbﬂ pbﬂtﬁmﬂt!?
ain Grassmann's laws,
% ﬁgglwmu:f? Explain color with the help of calorimetry.
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o Ln O A

poTs o

=

Faeh, i £ o0
‘L.F_- ’ j‘.’e.‘.
.‘.5 &8 '-.-.'fi:
oy -y 1; :
Attempt any three of the following: L&F ¥

Explain z-buffer algorithm with advantages and disadv 4,
‘What are the basic tests in Warnock's algorithm? Exphﬁ@a,, ;
Explain parametric representation of ellipse with extim}ﬂm v
Write a note on B-Spline curves. o7 , _.‘* WY

Compare all visible surface detection methods. ‘ :
Construct Bezier curve of order 3, with 4 poly
for values of u,0<u<lwhere p(u) is a point o

Attempt any three of the following: ‘Lx .
‘What is an image? Explain different frf cf@:glt
What is an animation? Explain ¢

Explain the concept of median filte
Distinguish key frame anmhq&\i
Explam different types uf de

12



TEMETY.  Reawlar @cnmnﬁhm fp\-ﬂﬂ*ﬂ? '2#115-

£3

(Time: 2% hours)

|" .'

Tota] Marks 7’,5. ;‘-'. s

N. B (1) All questions are compulsory., AD S
(2) Make suitable assumptions wherever necessary un-:l _m_ﬂl‘lﬂﬂ_u_j___llmﬂm_ﬂ!tﬁade i Zean s
(3) Answers to the game question must be writtsn tagnghm: i = s
(4) Numbers to the pight indicate marks, 2, ”-Z";_.;-" U gt O
(5) Draw neat labeled diagrams wherever necessary, . 5 g ?;‘.’?'.{F.:? .
(6) Use of Non-programmable calculators lskﬂnlﬁﬁgﬂ BT R
1. Attempt any three of the following: = \ e P b
a. Distinguish between general purpose, byst‘em zmd ambﬂﬂdeﬂ 3}’%51“3\ Y e L e
b.  List three applications of embedded systems: D[sauss -any: Eﬂl@ﬂﬂ Elc“tat I G LS
c.  Briefly explain function of the {‘ollawmg,ﬁlsn gWe Gnaﬁxample Qagh S '::
1) PLD : i B .— 3 el -\. .‘_1?...:;::
i) CORS - A
d.
stepper motors.
e. Discuss characterxsims~of embe:dcin:d a}rstems;
f.

2. Attempt any :m ufﬂmp l't]llﬁwihg :

: 15
a. Explain the difference begwq@n “domain Spesmf cwa@md upplicambn specific embedded
system. Give two @Eﬂmgles éf—‘sanh. T e
b. What is role of disp Ia:,_t:‘[}anei ina waahmg maﬁflmﬁ? %ﬂf "hputs can be accepted from
user in a- Waﬂﬁngmgmﬂhm& dléglay J,ntarf'gqc“? :
c. "k.iufl'laf:rj“h ‘memory map? Exp [din/the inferruptn map i"qr ﬂmbeddcd system
d. Wha[.m a&.ﬁ&rﬂ]ﬂ! fypﬁ&i’bﬁl‘nﬂmagﬂ Epﬁplum eacﬁ in‘brief.
e Ain thh%nmtrb;-qf*ﬂ@mm‘i a;hd fstaxqs 'glstm Give example.
f. Wﬁt& a_note’;:g»w%dcg"ﬁimer. AN : 2
G B S e
o Attem t‘,an]; tm-ee qf‘t]ra“foltwvmg an _;_1_;5;;_
) ;: With ngai Hlbak dlﬁﬁ@m‘&ﬁ@]ﬁiﬁ‘ﬂl& compnnems of 8051 microcontroller. '

.: , Dm’tﬁ' ,ﬁh&'pmﬂ}lt‘ﬂhgfam ﬂpﬂ e:{plmmMu:tmns of pins of 8051 microcontroller.

Sty "ﬁﬂ‘m; is the need of mtgrfaemgmxtemal memory with 8051 microcontroller? Howis
X -;f",-.-*. o ‘tarﬁmmgdonﬂ? i
dlis '@(Thbmnﬁ:-tﬁ_ ‘on da”m ‘tgpas m smlacdded e, _

E Explmm“ﬁm time ﬂal&y m‘t;altulatcd using 8051 microcontroller? Write code segmer
e

your & lanation,
w spgp ;L'émc ?;gnji@af l;ﬁl.mse operator in embedded C.




). P. Code: 36153

Attempt gny three of the following:
g rn‘m[r‘)”ﬁ' for ﬂmbﬂd&d

What are the factors 1o he considered in selecting 4 i
"‘jl"llﬁm 7 Iiscuss Any one in d!’.ﬂfi]f
systenm using Sl'J.H mrarw:nm:llcr,

b Explain the steps in designing an embedded
troller.

List and explain in brief the features of 8051 micrasm
edded 5 jm Pf%fam

d.  With required cxample explain structure of embe
e, Explain what is meant by the super loop | based approach.
f.  What arc different types of files {.reawd in ﬂu— process of buming apmgfw onto 1C.
5. Attempt any three of the followingz - ' ’
a.  Define operating system kernel. What are services provided b.‘" kernel?
b.  Distinguish between Real !Jme upcratmg system and g"-’ﬂf’f‘ﬂ ;erpa% Opcmtmg
system.
¢, List and explain the functmna’.l rcquircmcﬁtg 16 be mnsldefed ifr Oﬁfﬂf to 591'3‘3‘ the
correct RTOS.,

d.  What are the components of IDE. of embee{ded syater deve{npmeﬂt m“ifﬂﬂmmf’
e, Explain following terms—

Compiler s e g S 5

Debugger = ] P e

Disassembler = .0 ¢ Tl Bl < e et

Emulator A Ay L P ; e

Simulator .~ . :
Write & notf: on cun‘ﬁnt trends m mnbedded mdusl;-y

g ;:'_ '-}3&;,_#&1';ﬁ'ﬁ'ﬁ_ﬂﬁ##&ﬂ
2o 2l g
£, '.__-’ ; r ; ;
5 v et 2 :

3 ¥
. ¥
=,
- u,
e
L 5
ok o M . 4 =
: a a * o
~ & P .
-, : . - e
ol I"
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